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General Knowledge / açWýç»S pûçX / açWýçÌ[ýS pûçX
1. The poison by which Socrates was put to death :

åEõçX×[ýWý ×[ýc÷ YçX Eõ»çc÷O $JôãyÔ×$RôO$K÷Eõ ]ÊTÇöîV‰ø ×VÌ^ç éc÷×$K÷_ ?
aãyÔ×OôãaÌ[ ]ÊTÇöî ×EõãaÌ[ý ¥çÌ[ýç c÷Ì̂   :
a) Cyanide b) Hemlock c) Sulphuric Acid d) None of these

$JôçãÌ^Xçc÷OQö åc÷]_Eõ $K÷ç_×ZõQöO×»Eõ A×$JôQö A$RôOçC Xc÷Ì̂
açãÌ^Xçc÷OQö åc÷]_Eõ $a÷ç_×ZõQöO×Ì[ýEõ A×$aQö AEõ×$RôOC XÌ̂

2. The Tata group has shifted their “Nano Plant” from a place of West Bengal. Name the place.
$RôOç$RôOçc÷O åTöCgã_çEõ» åXãXç GçQÍöÝ YÒEõ”ä$RôOç Y×¸Jô][ý†» åEõçX Pöçc÷O» Y»ç %c÷OX Pöçc÷Oê_ ØšöçXçÜ™ö» Eõ×»ä$K÷*
OôçOôç åXãXç GçQÍöÝÌ[ý YÒEõ”×Oô Y×¸Jô] [ýã†Ì[ý åEõçXØšöçX c÷+ãTö mLÌ[ýçåOô ØšöçXçÜ™ö×Ì[ýTö EõãÌ[ý ?
a) Nandigram b) Howrah c) Singoor d) Siliguri

X³VÝGÐç] c÷çCQÍöç ×`†Ç» ×`×_m×»
X³VÝGÐç] c÷çCQÍöç ×`†ÇÌ[ý ×`×_m×QÍö

3. Which of the following is correct ?
Tö_» åEõçXä$RôOç £ˆù
XÝäJôÌ[ý åEõçX×Oô £ˆù
a) Jeev Milkha Singh - Tennis b) Jhulan Goswami - Cricket

LÝ\ö ×]_Fç ×ae æ$RôO×X$K÷ MÇõ_X åGçØ‘öç]Ý ×yÔãEõ$RôO
LÝ\ö ×]_Fç ×ae æ$RôO×X$a MÇõ_X åGçØ‘öç]Ý ×yÔãEõ$RôO

c) Baichung Bhutia - Hockey d) Pankaj Advani - Badminton
[ýçc÷O$JÇôe \Çö$RôOÝÌ̂ ç c÷EõÝ YáøL %çQö[ýçXÝ å[ýQËö×]³RôOX
[ýçc÷O$JÇôe \Çö$RôOÝÌ̂ ç c÷×Eõ YáøL %çQö[ýçXÝ å[ýQËö×]³RôOX

4. The ‘Magna Carta’ of Indian education is :
åEõçXFX $JôXVEõ ×`lùç» ‘‘å]GXç Eõç$RôOÛç’’ [ýÇ×_ åEõç¾ç c÷Ì^ ?
XÝäJôÌ[ý åEõçX×OôãEõ \öçÌ[ýTöÝÌ̂  ×`lùçÌ[ý ‘å]GXç EõçOôïöç’ [ý_ç c÷Ì̂  ?
a) Wood’s Despatch     b) Hunter’s Commission   c) Sachdev Commission d) Sauchar Committee

QöOQö» åHçbSç Yy c÷ç³RôOç» %çãÌ̂ çG $K÷$Jô ãV[ý %çãÌ̂ çG $Jôç$Jôç» Eõ×]×$RôO
=åQöÌ[ý åHçbSç Yy c÷ç³OôçÌ[ý %çãÌ̂ çG aJôãV[ý %çãÌ̂ çG açJôçÌ[ý Eõ×]×Oô
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Class : IX

Time/a]Ì^ : 2 hours/ H³RôOç Full Marks/ ]ÇPö X=‘ö» / å]çOô X¶‘öÌ[ý f (25+25+25+25)=100
INSTRUCTIONS / ×XãVÛ`ç¾_Ý / ×XãVÛ`ç[ý_Ý
1. Attempt All Questions / YÒãTöîEõä$RôOç YÒ Ầ» QöOwø» Eõ»ç / YÒãTöîEõ×Oô YÒä ẦÌ[ý =wøÌ[ý VçC
2. There are four options to every question. Choose the correct option by putting any one of a, b, c or d, in the box

YÒ×Töä$RôOç YÒ`Â» $Jôç×»$RôOç ×[ýEõ” QöOwø» ×VÌ^ç %çä$K÷* £ˆù QöOwø»ä$RôOç [ýç×$K÷ QöO×_Ì^çc÷O EõçbTö UEõç [ýçEõ$JôTö a, b, c [ýç d ×_×F[ýç*
YÒ×Tö×Oô YÒä ẦÌ[ý JôçÌ[ý×Oô ×[ýEõ” =wøÌ[ý åVCÌ̂ ç %çäK÷* a×PöEõ =wøÌ[ý×Oô å[ýäK÷ Yçã »̀ UçEõç [ýçåj a, b, c A[ýe d ×_F*
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5. The age of a tree can be calculated by :
G$K÷ AãLçYç» [ýÌ̂ a åEõãXêEõ ×X»ÖYX Eõ»ç c÷Ì̂  ?
AEõ×Oô GçäK÷Ì[ý [ýÌ̂ a ×XWýïçÌ[ýX EõÌ[ýç c÷Ì̂   :
a) Number of branches b) Its Height                c) Girth of its trunk           d) Number of its annual ring

G$K÷» Qöç_» aeFîç» CY»Tö c÷OÌ̂ ç» QöO¬JôTöç» CY»Tö Eõç‰ø» Y×»×Wý [ýç×bïEõ FçLEõç$$RôOË ($JôyÔ) aeFîç» CY»Tö
GçäK÷Ì[ý Qöçã_Ì[ý aeFîçÌ[ý =YÌ[ý +c÷çÌ[ý =¬JôTöçÌ[ý =YÌ[ý Eõçã‰øÌ[ý Y×Ì[ý×Wý [ýç×bïEõ JôåyÔÌ[ý aeFîçÌ[ý =YÌ[ý

6. The name of Judicial organ of UNO is :
UNO XîçÌ̂  ×[ý\öçGÝÌ̂  `çFç» Xç] c÷’_ :
UNO AÌ[ý XîçÌ̂  ×[ý\öçGÝÌ̂  ̀ çFç c÷_ :
a) International Supreme Court b) UN Court of International Justice

%çÜ™öLÛç×TöEõ QöO¬Jô÷Tö] XîçÌ̂ ç_Ì̂ »çrÑôaeH» %çÜ™öLÛç×TöEõ XîçÌ̂ ç_Ì̂
%çÜ™öLÛç×TöEõ QöO¬JôTö] XîçÌ̂ ç_Ì̂ Ì[ýçrôaeãHÌ[ý %çÜ™öLÛç×TöEõ XîçÌ̂ ç_Ì̂

c) Judicial Forum d) International court of Justice
Xîç×Ì̂ Eõ åZõç»ç] %çÜ™öLÛç×TöEõ ×[ý$$$Jôç»ç_Ì̂
Xîç×Ì̂ Eõ åZõçÌ[ýç] %çÜ™öLÛç×TöEõ ×[ý$JôçÌ[ýç_Ì̂

7. The biggest enterprise of the Govt of India is :
\öç»Tö $Jô»Eõç»» [ýÊc÷wø] [ýî¾aç×Ì^Eõ YÒ×TöœöçX c÷’_ :
\öçÌ[ýTö aÌ[ýEõçãÌ[ý [ýÊc÷Tö] YÒ×TöœöçX :
a) Postal and Telegraph b) Railways c) Banking d) Shipping

QöçEõ-%ç»Ó æ$RôO×_GÐçZõ å»_ åa¾ç å[ýáø åa¾ç åXì [ýc÷»
QöçEõ A[ýe åOô×_GÐçZõ åÌ[ý_ åa[ýç å[ýáø åa[ýç åXì[ýc÷ýÌ[ý

8. The name which is not associated with the insurance business in India is :
Tö_» åEõçXä$RôOç \öç»Tö» [ýÝ]ç [ýî¾açÌ^» _GTö L×QÍöTö Xc÷Ì^ ?
XÝäJôÌ[ý åEõçX×Oô \öçÌ[ýãTöÌ[ý [ýÝ]ç [ýî[ýaçãÌ̂ Ì[ý açãU L×QÍöTö XÌ̂  :
a) Bajaj Alliance b) LIC c) GIC d) GE Money

[ýçLçL A_çãÌ̂ t A_, %çc÷O, ×$Jô ×L, %çc÷O, ×$Jô ×L, c÷O, ]çXÝ
[ýçLçL A_çãÌ̂ t A_, %çc÷O, ×a ×L, %çc÷O, ×a ×L, c÷O, ]çXÝ

9. The Parsi New Year is called :
Yç$JôÝÛ X¾ [ýbïEõ ×Eõ [ýÇ×_ åEõç¾ç c÷Ì^ :
YçÌ[ýaÝ X[ý[ýbïãEõ [ý_ç c÷Ì̂  :
a) Nauroz b) Khodal Sal c) Zarthusni d) Hijri

XCã»çL åFçVç_ $K÷ç_ L»UÇ$K÷ç×X ×c÷L»Ý
XCãÌ[ýçL åFçVç_ aç_ LÌ[ýUÇa×X ×c÷LÌ[ýÝ

10. Find the odd one :
×[ýaVÊ`ä$RôOç [ýç×$Jô QöO×_C¾ç
%×]_ ̀ Œ×Oô [ýç×c÷Ì[ý EõÌ[ý :
a) Germany b) Sweden c) South Korea d) England

Lç]ïçXÝ $JÇôc÷OãQöX V×lùS åEõç×»Ì^ç c÷Oeã_‰ø
Lç]ïçXÝ $aÇc÷OãQöX V×lùS åEõç× Ì[ý Ì̂ ç c÷Oeã_‰ø
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11. The mathematician who calculated the modern value of ‘pi’ was :
åEõçXLX G×STöpûc÷O Yçc÷O» [ýwïø]çX ]É_î ×XSïÌ̂  Eõ×»×$K÷_ ?
åEõçX G×STöpû ‘pi’ Yç+’ AÌ[ý %çWýÇ×XEõ ]çX ×XSïÌ̂  Eõ×Ì[ýÌ̂ ç×K÷ã_X ?
a) Aryabhatta b) C.V. Raman c) C. Ramanujan d) None of them

%ç ï̂î\övô ×$Jô,×\ö, »]X ×$Jô, »ç]çXÇLX åEõçãXçã¾c÷O Xc÷Ì̂
%ç ï̂î\övô ×a ×\ö Ì[ý]X ×a, Ì[ýç]çXÇLX åEõc÷+ XX

12. The headquarters of ‘SAARC’ is at :
SAARC » ]ÇFî Eõç ï̂îç_Ì̂  Eõ’Tö %¾×ØšöTö ?
SAARC AÌ[ý ]ÇFî Eõç ï̂îç_Ì̂  åEõçUçÌ̂  %[ý×ØšöTö ?
a) Delhi b) Kathmandu c) Dhaka d) Colombo

×V{ÝTö EõçPö]ç‰ÇøTö $RôçEõçTö Eõ_ã=‘öçTö
×V{ÝãTö EõçPö]ç‰ÇøãTö $RôçEõçÌ^ Eõ_ã=‘öçãTö

13.  of which network ?

 YÒTöÝEõä$RôOç åEõçX åa¾ç» _GTö L×QÍöTö ?

 YÒTöÝEõ ×Jôc÷Ô×Oô ×EõãaÌ[ý ?

a) Airtel b) Reliance c) BSNL d) Vodafone
AÌ̂ ç»ä$RôO_ ×»_çãÌ̂ ‡û ×[ý, A$Jô, AX, A_ å\öçQöçãZõçX
AÌ̂ çÌ[ýä$RôO_ ×Ì[ý_çãÌ̂ ‡û ×[ý Aa AX A_ å\öçQöçãZõçX

14. “Give me blood, I will give you freedom”. Who said ....... ?
“TÇö×] å]çEõ åTöL ×VÌ^ç, ]c÷O åTöç]çEõ Ø‘öçWýÝXTöç ×V]” åEõçãX éEõ×$K÷_ ?
‘%ç]çãEõ Ì[ýNþ VçC, %ç×] åTöç]çãVÌ[ý Ø‘öçWýÝXTöç ×V[ý’ -- åEõ [ýã_×K÷ã_X ?
a) Bal gangadhar Tilak b) Bhagat singh c) Lala Lajpat Roy d) Subhas Ch. Bose

[ýç_ G†çWý» ×Tö_Eõ \öGd ×ae _ç_ç _çLYTö »Ì̂ aÇ\öçb $Jô³VÐ [ýaÇ
[ýç_ G†çWýÌ[ý ×Tö_Eõ \öGd ×ae _ç_ç _çLYTö Ì[ýçÌ̂ aÇ\öçb $Jô³VÐ [ýaÇ

15. Mirza Ghalib is regarded as the father of :
×]LÛç Gç×_[ý ×Eõc÷» ×YTÊö YÇ»Ób [ýÇ×_ LXçLçTö ?
×]LÛç Gç×_[ýãEõ ×EõãaÌ[ý ×YTÊö YÇ»Ì[ý»Ób ×c÷açã[ý LçXç ̂ çÌ̂
a) Quawali b) Bhajan c) Ghazal d) Geet

Eõç¾ç_Ý \öLX GL_ GÝTö
EõçCÌ̂ ç_Ý \öLX GL_ GÝTö

16. Mount Kilimanjaro is in :
×Eõ×_]çtçã»ç Y[[ýïTö ]ç_ç Eõ’Tö ?
×Eõ×_]çtçãÌ[ýç Y[ýïTö]ç_ç åEõçUçÌ̂  ?
a) South Africa b) Ethiopia c) Tanzania d) Kenya

V×lùS %ç×ZÐõEõç c÷O×UC×YÌ̂ ç $RôOç³Lç×XÌ^ç åEõXÝÌ^ç
V×lùS %ç×ZÐõEõç c÷O×UC×YÌ̂ ç TöçXLç×XÌ^ç åEõ×XÌ^ç
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17. Who among the following served as the President, the Vice-president and the chief justice of India ?
Tö_» åEõçX LX [ýî×NþãÌ^ \öç»Tö» »çrÑôY×Tö, QöOY-»çrÑôY×Tö %ç»Ó ]ÇFî ×[ý$Jôç»Y×Tö »ÖãY Eõç^ïî ×X[ýïçc÷ Eõ×»×$K÷_ ?
XÝäJôÌ[ý åEõçX [ýî×Nþ \öçÌ[ýãTöÌ[ý Ì[ýçrÑôY×Tö, =Y-Ì[ýçrÑôY×Tö A[ýe ]ÇFî ×[ýJôçÌ[ýY×Tö Ì[ý»ÖãY Eõç ï̂î ×X[ýïçc÷ EõãÌ[ý×K÷ã_X ?
a) V. V. Giri b) B.D. Jatli c) N. Sanjiv Reddy d) M. Hidayatullah

×\ö ×\ö ×G×» ×[ý ×Qö Lç$RôOÝ XÝ_] atÝ¾ å»¯QöÝ A] åc÷VçÌ̂ çTÇö{çc÷
×\ö ×\ö ×G×Ì[ý ×[ý ×Qö Lç$RôOÝ XÝ_] atÝ[ý åÌ[ý¯QöÝ A] åc÷VçÌ̂ çTÇö{çc÷

18. The ‘five points someone’ on which the film ‘3 idiots’ is picturized is authored by :
‘3 c÷O×QöÌ̂ $RôO’ ×X=ö‚ïçX åc÷ç¾ç EõUç$K÷×[ý» Eõç×c÷XÝ “Zõçc÷O\ö Yc÷O³RôO$Jô $Jôç]C¾çX” » ×_FEõ åEõçX ?
‘UÐÝ +×QöÌ^Oô’ K÷çÌ̂ çK÷×[ý ×X]ïçS EõÌ[ýç c÷Ì̂  ‘Zõç+\ö YãÌ̂ ³O  aç]CÌ̂ çX’ Eõç×c÷XÝÌ[ý =YÌ[ý* Eõç×c÷XÝÌ[ý ã_FEõ åEõ ?
a) Arundhati Ray b) Vikram Seth c) Chetan Bhagat d) Jhumpa Lahiri

%»ÓμùTöÝ »Ì̂ ×[ýyÔ] å`Pö æ$JôTöX \öGTö MÇõ+ç _ç×c÷»Ý
%Ì[ý»ÓμùTöÝ Ì[ýçÌ̂ ×[ýyÔ] å`Pö æJôTöX \öGTö MÇõ+ç _ç×c÷QÍöÝ

19. VAT is a form of :
VAT ×Eõ ?
VAT ×EõãaÌ[ý YÒEõçÌ[ý
a) Direct Tax b) Indirect Tax c) Sales Tax d) Income Tax

YTöîlù Eõ» Yã»çlù Eõ» ×[ýyÔÝEõ» %çÌ̂ Eõ»
YÒTöîlù EõÌ[ý YãÌ[ýçlù EõÌ[ý ×[ýyÔÌ̂  EõÌ[ý %çÌ̂  EõÌ[ý

20. Who is responsible to guard the border of the Country in India ?
\öç»Tö» aÝ]çaÇ»lùç Eõç» Vç×Ì^±¼öTö ?
\öçÌ[ýãTÌ[ý aÝ]ç aÇÌ[ýlùç EõçÌ[ý Vç×Ì̂ ã±¼ö %çäK÷ ?
a) RPF b) CRPF c) BSF d) RAF

%ç», ×Y, AZõ ×$Jô, %ç», ×Y, AZõ ×[ý, A$J,ô AZõ %ç», A, AZõ
%çÌ[ý, ×Y, AZõ ×$a, %çÌ[ý, ×Y, AZõ ×[ý, A$a, AZõ %çÌ[ý, A, AZõ

21. Freedom fighter Rani Gaidalu belongs to which state ?
Ø‘öçWýÝXTöç aeGÐç]Ý »çSÝ Gçc÷OVç_Ç åEõçX »çLî» [ýç×a³Vç %ç×$K÷_ ?
Ø‘öçWýÝXTöç aeGÐç]Ý Ì[ýçSÝ Gçc÷OVç_Ç åEõçX Ì[ýçåLîÌ[ý [ýç×a³Vç ×$$K÷ã_X ?
a) Mizoram b) Arunachal Pradesh c) Nagaland d) Tripura

×]ãLç»ç] %»ÓSç$Jô_ YÒãV` XçGçã_‰ø ×ÅyYÇ»ç
×]ãLçÌ[ýç] %Ì[ýÓSç$Jô_ YÒãV` XçGçã_‰ø ×ÅyYÇÌ[ýç

22. Primary education has recently made as fundamental right to which of the following age group ?
Tö_» åEõçXä$RôOç [ýÌ^a» _»ç æ$K÷ç¾ç_Ý» [ýçã[ý YÒçU×]Eõ ×`lùçEõ å]ì×_Eõ %×WýEõç» »ÖãY Ø‘öÝEÊõ×Tö ×Vä$K÷ ?
XÝäJôÌ[ý åEõçX [ýÌ̂ ãaÌ[ý äK÷ã_ å]ãÌ̂ ãVÌ[ý LXî YÒçU×]Eõ ×`lùç å]ì×_Eõ %×WýEõçÌ[ý ×c÷açã[ý Ø‘öÝEÊõ×Tö åVCÌ̂ ç c÷Ì̂  ?
a) 4 to 14 years b) 6-14 years c) 6 to 12 years d) 4 to 10 years

4 » Y»ç 14  [ý$K÷» Y^ïÜ™ö 6 » Y»ç 14  [ý$K÷» Y^ïÜ™ö 6 » Y»ç 12  [ý$K÷» Y^ïÜ™ö 4 » Y»ç 10  [ý$K÷» Y ï̂Ü™ö
4 åUãEõ 14  [ýda÷ Ì[ý Y^ïÜ™ö 6 ãUãEõ 14  [ý$da÷Ì[ý Y ï̂Ü™ö 6 åUãEõ 12  [ý$da÷Ì[ý Y ï̂Ü™ö 4 åUãEõ 10  [ý$da÷Ì[ý Y ï̂Ü™ö
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23. The Award of Best Director in 55th Filmfare Award is given to :
55 Tö] ×Zõ_½ åZõÌ^ç»Tö æ`Òrô ×XãVÛ`Eõ» YÇ»•õç» EõçEõ ×VÌ^ç éc÷×$K÷_ ?
55 Tö] ×Zõ_½ åZõÌ̂ çÌ[ý YÇÌ[ý•õçÌ[ý a]çãÌ[ýçãc÷ æ Ò̀rô ×XãVÛ̀ ãEõÌ[ý YÇÌ[ý•õçÌ[ý Eõçc÷ç»ãEõ YÒVçX EõÌ[ýç c÷Ì̂  ?
a) Dibakar Baneerjee b) Vishal Bhardwaj c) Anurag Kashyap d) Raj Kumar Hiran

×V[ýçEõ» å[ýXçLÝÛ ×[ý`ç_ \öç»¥çL %XÇ»çG Eõç`îY »çLEÇõ]ç» ×c÷»çSÝ
×V[ýçEõÌ[ý å[ýXçLÝÛ ×[ý`ç_ \öçÌ[ý¥çL %XÇÌ[ýçG Eõç`îY Ì[ýçLEÇõ]çÌ[ý ×c÷Ì[ýçSÝ

24. The first women ‘Speaker of Lok Sabha Meera Kumar is the daughter of
å_çEõa\öç» a[ýï YÒU] ]×c÷_ç %Wýîlù ]Ý»ç EÇõ]ç» Eõç» LÝÌ̂ »Ý ?
å_çEõa\öçÌ[ý a[ýïYÒU] ]×c÷_ç %Wýîlù Eõçc÷çÌ[ý EõXîç ?
a) Kishore Kumar b) Babu Jagjivan Ram

×Eõã`ç» EÇõ]ç» [ýç[ýÇ LGLÝ¾X »ç]
×Eõã`çÌ[ý EÇõ]çÌ[ý [ýç[ýÇ LGLÝ[ýX Ì[ýç]

c) Choudhury Charan Singh d) Dr. B.R. Ambedkar
æ$JôìWýÇ»Ý $Jô»X ×ae Qöf ×[ý, %ç» %çã=‘öVEõ»
æ$JôìWýÇÌ[ýÝ $JôÌ[ýX ×ae Qöf ×[ý, %ç Ì[ý %çã=‘öVEõÌ[ý

25. Uvea is a layer of the ..............
c÷OQöO×\öÌ^ç (UVEA) c÷’_ ................. » A$RôOç $Jôç]×X
c÷OQöO×\öÌ̂ ç (UVEA) c÷c÷O_ ................. AÌ[ý A$Eõ×RôO $Ø™öÌ[ý
a) Eye b) Liver c) Spleen d) Urethra

$JôEÇõ [ýÊhõ YÀÝc÷ç ]ÉyX_Ý
æ$JôçF [ýÊhõ YÀÝc÷ç ]ÉyXç_Ý

General English

26. He has  ………………… awake in bed for hours.
a) laid b) lied c) layed d) lain

27. His  sufferings were all —————  with great patience.
a) Borne b) Born c) Bore d) Beared

28. The roof of the building is ————— strong.
a) Much b) Too c) Very d) Heavy
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29. Glimpses  ————— the religious side of his nature appear in majority of his plays.
a) To b) At c) On d) Of

30. He is terribly absorbed  ————— his work  ————— bacteria.
a) With , of b) With , on c) In , with d) In , on

31. It seldom pays to rebel —————— the authorities .
a) Upon b) At c) Against d) Over

32. He has his lunch at the office .......
a) had he ? b) has he ? c) hasn’t he? d) doesn’t he ?

33. The study of words is  ………  :
a) Ecology b) Entomology c) Etymology d) Bibliography

34. The judge is fair in giving  judgments   and is known to be  …………  .
a) Partial b) Ill-tempered c) Impartial d) Hasty

35. Since he arrives at his destination right on time, he is  ……….
a) Punctuous b) Regular c) Punctual d) Timely

36. Modesty is a  ………….   virtue.
a) Womanish b) Womanly c) Female d) Lady

37. My uncle did his   …………   best to make my stay comfortable.
a) Utter b) Quite c) All d) Very

38. My friend found himself   on the   ……….   of a dilemma.
a) Wings b) Horns c) Face d) Eyes

39. This  publication  is  a useful   ……   to our library.
a) Addition b) Add-on c) Addenda d) Adhoc

Pick out the sentence in which the head word has been correctly used.

40. Consort
a) The queen attended the wedding with her consort.
b) The consort was attended by a large audience.
c) The public must consort electricity to prevent loadshedding.
d) She consorted her face in pain.

41. Beseech.
a) The enemy tried to beseech the fort.
b) I beseech you to forgive me.
c) He wanted to beseech his property to the charity hospital.
d) We beseeched in the sea beach.
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Select from the choices given below each sentence the word that is nearest in meaning  to the word
given in  italics.

42.  A reliable friend is the gift of God.
a) Helpful b) True c) Honest d) Dependable

43. Science has revealed the mysteries of nature to man.
a) Disclosed b) Opened c) Cleared d) Concealed

Select from the choices given below each sentence the word that is opposite in meaning  to the word given in
italics. ( Q. 61  to  65)

44. His vulgar remark made the girls angry.
a) Simple b) Graceful c) Naughty d) Abusive

45. We were told to divulge only the unimportant  details.
a) Express b) Ignore c) Suppress d) Conceal

Choose the correct alternative from the following sayings :

46.  ————— is the last refuge of a scoundrel.
a) Politics b) Religion c) Patriotism d) Opium

47. It is easy to praise poverty than to  —————  it.
a) Bear b) Condemn c) Remove d) Hate

Choose the pair which is different from others in the group :

48. a) doctor : medicine
b) teacher : book
c) judge : court
d) accountant : cash

49. a) New Year : picnic
b) Holi :  colour
c) Birthday :  cake
d) Deepawali :  lights

50. a) Heaven : Hell
b) Heavy : light
c) silk : cotton
d) opaque : transparent
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General Mathematics / açWýç»S G×STö / açWýçÌ[ýS G×STö
51. One of the factors of (x2 - 2x)2 - 2(x2 - 2x) - 3 is : ...........

(x2 - 2x)2 - 2(x2 - 2x) - 3 » A$RôOç QöOdYçVEõ c÷_ f ...........................
(x2 - 2x)2 - 2(x2 - 2x) - AÌ[ý AEõOôç =dYçVEõ c÷_ f .........................

a) x - 3 b) x + 3 c) x + 2 d) x + 4

52. If sinθ + cosθ = 1, then sinθ. cosθ is equal to ................
^×V sinθ + cosθ = 1 c÷Ì^, åTöãÜ™ö sinθ. cosθ » ]çX c÷[ý................
^×V sinθ + cosθ = 1 c÷Ì̂ , Töã[ý sinθ. cosθ AÌ[ý ]çX c÷ã[ý ..........

a) 0 b) 3
2

c) A d) D

53. The lengths of the sides of an equilateral triangle A are twice the lengths of the sides of equilateral triangle B.
How many triangle like B can fit in the triagnle A ?
A$RôOç a][ýç§ ×Åy\ÉöL A » [ýçý§» éVHïî %çX A$RôOç a][ýçc÷ ×Åy\ÉöL B » [ýç§» éVHïî» VÇmX c÷ã_ A ×Åy\ÉöLTö FçYãFç¾çêEõ B » ×X×$JôXç ×Eõ]çX$RôOç
×Åy\ÉöL [ýc÷ç[ý Yç×» ?
A a][ýç§ ×Åy\ÇöãLÌ[ý [ýç§Ì[ý éVHïî B a][ýçc÷ ×Åy\ÇöãLÌ[ý [ýç§Ì[ý éVãHïîÌ[ý VÇ+mX c÷+ã_ A ×Åy\ÇöãLãTö B AÌ[ý ]Tö EõTöOôç ×Åy\ÇöL [ýaç+ãTöö Yç×Ì[ý ?

a) 2 b) 3 c) 4 d) 6

54. Price of Sugar rises by 20%. By how much should the consumption of sugar be reduced so that the expenditure
does not change.
æ$JôXÝ» Vç] 20% [ýÊ×ˆù c÷ã_ æ$JôXÝ» ålùyTö F»$K÷ Y×»[ýwïøX XEõ»çêEõ ×Eõ]çX `Töçe` æ$JôXÝ» [ýî¾c÷ç» Eõ]ç[ý _ç×G[ý ?
×Jô×X»Ì[ý Vç] 20% [ýÊ×ˆù c÷ã_ ×Jô×XÌ[ýãlùäy FÌ[ýJô Y×Ì[ý[ý»TöÛX Xç Eõ×Ì[ýÌ̂ ç EõTö ̀ Töçe` ×Jô×XÌ[ý [ýî[ýc÷çÌ[ý Eõ]ç+ãTö c÷+ã[ý ?

a) 20% b) 10% c) 16C% d) 15%

55. The area of the shaded region in the following figure is ..............
Tö_Tö ×VÌ^ç ×$Jôyã$RôOç» $Kg÷çã» %ç[ýÊTö %e`» Eõç×_ ................
XÝäJôÌ[ý åVCÌ̂ ç K÷×[ý×OôåTö K÷çÌ̂ çÌ̂  %ç[ýÊTö %eã Ì̀[ý Eõç×_ .............

a) 115.5 cm2        b)   125.5 cm2       c)   105.5 cm2 d) None of these (A$RôOçC Xc÷Ì̂  / AEõ×$RôOC Xç)

56. If x = 15  and y = 20, then   x  + y2 2  = ?
^×V x = 15 %ç»Ó y = 20 c÷ã_ 

  x  + y2 2

 = ?
^FX x = 15 A[ýe y = 20 Töã[ý 

  x  + y2 2

 = ?

a) (15 + 20)2 b) 35 c) 625 d) 25

14 cm (æ$K÷.×].) (åa.×].
7cm

(æ$K÷.×].)
(åa.×].

7cm
(æ$K÷.×].)
(åa.×].

(8)



57. How many squares and triangles are present in the figure given below ?
Tö_Tö ×VÌ̂ ç ×$JôyTö ×Eõ]çX$RôOç [ýGï %ç»Ó ×Åy\ÉöL %çä$K÷ ?
XÝäJôÌ[ý ×Jôy×OôãTö EõÌ̂ ×Oô [ýGï A[ýe EõÌ̂ ×Oô ×Åy\ÇöL %çäK÷ ?

a) 11, 12             b)   8, 12            c)  7, 12 d) None of these (A$RôOçC Xc÷Ì̂  / AEõ×$RôOC Xç)

58. In D ABC, the sum of the exterior angles at ‘B’ and ‘C’ is equal to :
D ABC » ‘B’ %ç»Ó ‘C’ Tö QöOdY~ åc÷ç¾ç [ý×c÷f åEõçS VÇ$RôOç» a]×rô -
D ABC AÌ[ý ‘B’ A[ýe ‘C’ åTö =dY~ c÷CÌ̂ ç [ý×c÷åEïõçS VÇ×OôÌ[ý å^çGZõã_Ì[ý a]×rô

CB

A

a) 1800 - ∠BAC
b) 1800 + ∠BAC
c) 1800 - 2∠BAC
d) None of these (A$RôOçC Xc÷Ì̂  / AEõ×OôC Xç)

59. The solution of 

1
x + p

 - 1
x + q  = 1

p  - 1
q  is ....

1
x + p  - 1

x + q  = 1
p  - 1q  is .... » a]çWýçX c÷’_ --

1
x + p  - 1

x + q  = 1
p  - 1

q  is .... AÌ[ý a]çWýçX c÷_ ............

a) 0, - (p + q) b) 0, - (p -q) c) 0, - (q - p) d) 0, (p + q)

60. If x > 0, y > 0 then  x   y
 y  x

    y        x

     y     x  = ..............

^×V x > 0, y > 0 c÷Ì^, åTöãÜ™ö 

 x   y
 y  x

    y        x

     y     x

 = ..............

^×V x > 0, y > 0 c÷Ì^, Töã[ý 

 x   y
 y  x

    y        x

     y     x

 = ..............

a) (x - y)
y/x b) ( 

x
y

 )
x - y

c) 1 d) ( 

x
y

 )
y - x

61. (1 + 

1
x + 1

 ) (1 + 1
x + 2

 ) + (1 + 1
x + 3

) + (1 + 1
x + 4

 ) = ............

a) (           ) b) ( x + 1
 x + 5

) c) ( x + 4
 x + 3

) d)  (x + 5) (x + 4)
 (x + 1) (x + 2)

(9)

x + 5
x + 1



62. If p and q are two rational numbers, then which of the following statements is wrong ?
^×V p %ç»Ó q VÇ$RôOç Y×»ã]Ì^ aeFîç c÷Ì^ åTöãÜ™ö Tö_» åEõçXä$RôOç QöO×Nþ \Çö_
^×V p A[ýe q VÇ×Oô Y×Ì[ýã]Ì̂  aeFîç c÷Ì̂  Töã[ý XÝäJôÌ[ åEõçX X=‘öÌ[ý×Oô \Çö_

a) ⏐p + q⏐£ ⏐p⏐+ ⏐q⏐ b) ⏐p x q⏐£ ⏐p⏐x ⏐q⏐ c) ⏐p - q⏐ =⏐p⏐- ⏐q⏐ d) None of these
A$RôOçC Xc÷Ì̂  /AEõOôçC XÌ̂

63. Which of the four alternative numbers shall come next in the series ?
$Jôç×»$RôOç ×[ýEõ”» åEõçXä$RôOç æ Ò̀SÝä$RôOç» Y»[ýwøÝÛ YV c÷’[ý ?
æ Ò̀SÝ×OôãTö YÌ[ý[ýTöÝÛ YV åEõçX×Oô ?

36, 25, 16, 9, ?

a) 1 b) 2 c) 3 d) 4
64. The value of ‘x’ in the given figure is ................

×$Jôyä$RôOçTö ‘x’ » ]çX c÷’[ý ...............
×Jôy×OôãTö ‘x’ AÌ[ý ]çX c÷_

450 600

X

V V

V V

a) 1450          b)   1550 c) 1300             d)   Can not be determine (QöO×_Ì^ç[ý åXç¾ç×» / [ýç×c÷Ì[ý EõÌ[ýç ^çÌ̂  Xç)

65. Which of the following has the largest perimeter ?
Tö_» åEõçXä$RôOç» Y×»aÝ]ç %ç$RôOçc÷OTöêEõ å[ý×$K÷ ?
XÝäJôÌ[ý åEõçX×OôÌ[ý Y×Ì[ýaÝ]ç a[ýJôç+ãTö å[ý`Ý f-

a) A square of area 25 cm2 b) An equilateral triangle of side 8 cm
A$RôOç [ýGïålùy ^ç» Eõç×_ 25 æ$K÷.×].2 A$RôOç a][ýç§ ×Åy\ÉöL ^ç» [ýç§» éVHïî 8 æ$K÷.×].
AEõ×Oô [ýGïãlùy ̂ çÌ[ý Eõç×_ 25 åa.×]2 AEõ×Oô a][ýç§ ×Åy\ÇöL ̂ çÌ[ý [ýç§Ì[ý êVHïî 8 åaf×]f

c) A circle of diameter 8 cm d) A rectangle of area 56 cm2

A$RôOç [ýÊwø ̂ ç» [ýîça 8 æ$K÷.×]. A$RôOç %çÌ̂ çTöãlùy ^ç» Eõç×_ 56 æ$K÷.×].2

AEõ×Oô [ýÊwø ^çÌ[ý [ýîça 8 åa.×]. AEõ×Oô %çÌ̂ Töãlùy ̂ çÌ[ý Eõç×_ 56 åa.×].2

66. If p,q and r are real numbers such that (p - 3)2 + (q - 4)2 + (r - 5)2 = 0 then p+q+r = ..............
^×V p, q %ç»Ó r [ýçØ™ö¾ aeFîç %ç»Ó (p - 3)2 + (q - 4)2 + (r - 5)2 = 0 c÷Ì^, åTöãÜ™ö p+q+r = ..............
^×V p, q A[ýe r [ýçØ™ö¾ aeFîç A[ýe (p - 3)2 + (q - 4)2 + (r - 5)2 = 0 c÷Ì^, Töã[ýö p+q+r = ..............

a) -12             b)    0       c)     12 d) None of these (A$RôOçC Xc÷Ì̂  / AEõ×$RôOC Xç)

67. The population of a town has been increasing at the rate of 6% per annum. If its present population is 19663,
the population of the town 2 years ago was ............
AFX $Jôc÷»» [ýTöÛ]çX LXaeFîç 19663, ̂ ×V $Jôc÷»FX» LXaeFîç [ýÊ×ˆù» c÷ç» [ý$K÷×» 6% c÷Ì^ åTöãÜ™ö 2 [ý$K÷» %çGTö $Jôc÷»FX» LXaeFîç %ç×$K÷_ ....
AEõ×Oô ̀ c÷ãÌ[ýÌ[ý [ýTöÛ]çX LXaeFîç 19663, ^×V ̀ c÷Ì[ý×OôÌ[ý LXaeFîç [ýÊ×ˆùÌ[ý c÷çÌ[ý [ýK÷ãÌ[ý 6% c÷Ì̂ , Töã[ý 2 [ýK÷Ì[ý YÉã[ýï ̀ c÷Ì[ý×OôÌ[ý LXaeFîç ×K÷_ .............

a) 16800 b) 15900 c) 17500 d) 1800
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68. If the length of the diagonal of a square is (x + y), then the area of the square is ...............
^×V A$RôOç [ýGï» EõSï» éVHïî (x + y) c÷Ì^ åTöãÜ™ö [ýGïä$RôO» Eõç×_ c÷’[ý
AEõ×Oô [ýãGïÌ[ý» EõãSïÌ[ý» éVHïî ̂ ×V (x + y) c÷Ì̂ , Töã[ý [ýãGïÌ[ý» Eõç×_ c÷_ f-

a) (x + y)2 b) A (x + y)2 c) x2 + y2 d) A (x2 + y2)

69. The solution of 

1
x

 + 1
y  = 3

8
 and 1

x
 - 1

y  = 1
8

 is ................

1
x

 + 1
y  = 3

8
 %ç»Ó 1

x
 - 1

y  = 1
8

 » a]çWýçX éc÷ä$K÷ ................
1
x

 + 1
y  = 3

8
 A[ýe 1

x
 - 1

y  = 1
8

 AÌ[ý c÷+_ f-

a) 4, -8 b) -4, 8 c) -4, -8 d) 4, 8

70. a % of b is greater than b% of a, if ...........
b » a%, a » b% TöêEõ QöçIø» c÷’[ý, ̂ ×V ..................
b AÌ[ý a%, a AÌ[ý b% åUãEõ [ýQÍö c÷ã[ý ^×V

a) a > b b) b > a
c) a > 100 and (%ç»Ó / A[ýe) a > b d) None of these (A$RôOçC Xc÷Ì̂  / AEõOôçC XÌ̂ )

71. For all values of x, the graph of the line y = 10x will not pass through ................
x » aEõã_ç ]çX» [ýçã[ý y = 10x a×]Eõ»S» å_F ................ » ]çãLã» Xç^çÌ^*
x AÌ[ý aEõ_ ]çãXÌ[ý LXî, a]ÝEõÌ[ýS å_F y = 10x .............. AÌ[ý ]ãWýî ×VÌ̂ ç ^çÌ̂  Xç*

 a) IV quadrant b) III quadrant c) The origin d) All of these
($JôTÇöUï $JÇôEõ) (TÊöTöÝÌ^ $JÇôEõ) (]É_ ×[ý³VÇù) %ç$RôOçc÷OãEõc÷O$RôOç
($JôTÇöUï YçV) (TÊöTöÝÌ̂  YçV) (]É_ ×[ý³VÇ) a[ýEõÌ̂ $RôOç

72. Ratio of volumes of two cones with same radii is ......
AãEõ [ýîçaçWýï» VÇ$RôOç ̀ eEÇõ» %çÌ^TöX» %XÇYçTö ..................
AEõ×Oô [ýîçaçWýïÌ[ý» VÇ×Oô `eEÇõÌ[ý %çÌ̂ TöãXÌ[ý %XÇYçTö ..................

a) h1 : h2              b)    r1 : r2          c)     s1 : s2 d) None of these (A$RôOçC Xc÷Ì̂  / AEõOôçC XÌ̂ )

73. If a = 1, b = -1, c = 2, then the value of (ab - bc + ca) is ..........
^×V a = 1, b = -1, c = 2 c÷Ì^, åTöãÜ™ö (ab - bc + ca) » ]çX c÷’[ý .......
^×V a = 1, b = -1, c = 2 c÷Ì^, Töã[ý (ab - bc + ca)  AÌ[ý ]çX c÷ã[ý .......

a) -4 b) -2 c) 10 d) 2

74. Under which system is it wiser to take a loan ?
åEõçXä$RôOç Yˆù×TöTö @X å_ç¾çä$RôOç QöOwø] c÷’[ý ?
åEõçX Yˆù×TöãTö @S åXCÌ̂ ç a[ýJôç+ãTö \öç_ f-

a) Simple interest b) compound interest c) Both d) can not say
a»_ aÇTöTö ×]`Ò aÇTöTö QöO\öÌ^ Eõ[ý åXç¾ç×»
aÌ[ý_ aÇãV ×] Ò̀ aÇãV =\öãÌ̂ Lç×X Xç
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75. In a D PQR the angle bisectors of the ∠PQR, ∠PRQ meet at O. If ∠QPR = 800, then ∠QOR is.
D PQR » ∠PQR, ∠PRQ » a]×ˆùF‰øãEõ O ×[ý³VÇTö Eõ$RôOç Eõ×$RôO Eõ×»ä$K÷* ^×V ∠QPR = 800 c÷Ì^, åTöãÜ™ö ∠QOR » ]çY c÷[ý *
D PQR A a]×ˆùF×‰øTö \öçã[ý Eõç$RôOç åEõçS VÇc÷O×$RôO ∠PQR, ∠PRQ  O ×[ý³VÇãTö ×]×_Tö c÷Ì̂ ÷* ^×V ∠QPR = 800 c÷Ì̂ , Töã[ýö ∠QOR Ì[ý ]çY c÷_

a) 800

b) 1200

c) 1300

d) 900

1
2 3

4

Q R

P

O

) )

General Science / açWýç»S ×[ýpûçX / açWýçÌ[ýS ×[ýpûçX
76. Rati and Tola were the units of ........................

»×Tö %ç»Ó åTöç_ç ........... AEõEõ %ç×$K÷_
Ì[ý×Tö A[ýe åTöç_ç ×EõãaÌ[ý AEõEõ ×K÷_ ...............
a) Mass b) Length c) Time d) Volume

\ö»/\öÌ[ý éVHïî a]Ì^ %çÌ^TöX

77. A body thrown up reaches a height and comes back. With reference to the acceleration due to gravity, pick up the
correct statement.
A$RôOç [ýØ™Çö CY»ê_ V×_Ì^çc÷O ×Vã_ ]WýîçEõbïç×XEõ `×Nþ» [ýçã[ý [ýØ™Çöä$RôOç A$RôOç ×X×VÛrô QöO¬JôTöç» Y»ç %çãEõì QöO\ö×Tö %çãc÷* Ac÷O ålùyTö Tö_» åEõçXä$RôOç
QöO×Nþ aTöî
AEõ×Oô [ýØ™ÇöãEõ =YãÌ[ýÌ[ý ×VãEõ K÷ç×QÍöÌ̂ ç ×Vã_ ]çWýîçEõbïX ̀ ×NþÌ[ý LXî [ýØ™Çöø×Oô AEõ×Oô ×X×VÛrô =¬JôTöçÌ̂  åYìK÷çãXçÌ[ý YÌ[ý %ç[ýçÌ[ XÝäJô Jô×_Ì̂ ç %çãa* A+ ålùäy
XÝäJôÌ[ý åEõçX×O  aTöî

a) ‘g’ varies from maximum at the bottom to zero at the top                         b) It changes its sign twice
\ÉöYÊœöTö g » ]çX a[ýïç×WýEõ c÷ã_ aã[ýïç¬Jô ×[ý³VÇTö `ÉSî c÷Ì^ c÷OÌ^ç» YÒEÊõ×Tö VÇ[ýç» Y×»[ýTöÛX c÷Ì^
\ÉöYÊãœö ‘g’ AÌ[ý ]çX a[ýïç×WýEõ c÷+ã_ aã[ýïç¬Jô ×[ý³VÇãTö ̀ ÉXî c÷Ì^ c÷Oc÷ç Ì[ý YÒEÊõ×Tö VÇ+[ýçÌ[ý Y×Ì[ý[ýTöÛX c÷Ì̂

c) It remains constant through out d) It varies but never changes its sign
c÷OÌ̂ ç» ]çX %Y×»[ý×TöÛTö éc÷ UçãEõ c÷OÌ^ç» ]çX» Y×»[ýTöÛX c÷Ì^ ×EõÜ™Çö YÒEÊõ×Tö» Y×»[ýTöÛX Xc÷Ì̂
+c÷çÌ[ý ]çX %Y×Ì[ý[ý×TöÛTö UçãEõ +c÷çÌ[ý ]çãXÌ[ý Y×Ì[ý[ýTöÛX c÷Ì̂  ×Eõ³wø YÒEÊõ×TöÌ[ý Y×Ì[ý[ýTöÛX c÷Ì̂  Xç

78. A stone is thrown vertically upwards with a velocity of 9.8 m/s. The maximum height it reaches is ...........
A$RÇôOEÇõ»ç ×`_ 98 ×]./æ$K÷. å[ýãGã» CY»ê_ V×_Ì^çc÷O ×VÌ^çTö ×`_åQöçF» ............. QöO¬JôTöçê_ ̂ ç[ý
AEõOôÇôEÇõÌ[ýç YçUÌ[ý 98 ×]/åa G×TöãTö =YãÌ[ý KÇ÷×QÍöÌ̂ ç ×Vã_ YçUÌ[ý×Oô ................ =¬JôTöçÌ̂  ^çã[ý

a) 4.9 m (×].) b) 9.8 m (×].) c) 14.7 m (×].) d) 9.8 m (×].)
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79. A boy is 1.2 m tall. He wants to see his full image reflected. It is possible if the plane mirror is of a minimum
height of ........
1.2 ×]. CF ALX _»çc÷O åTöCg» a+ÉSï YÒ×TöZõ×_Tö YÒ×Tö×[ý=‘öä$RôOç AFX a]Tö_ VçãYçXTö $Jôç[ý» [ýçã[ý VçãYçXFX» ×X=oöTö] QöO¬JôTöç ...... c÷’[ý _ç×G[ý*
AEõ×Oô æK÷ã_ 1.2 ×]. _=‘öç* åa ^×V TöçÌ[ý a¶YÉXï YÒ×TöZõ×_Tö YÒ×Tö×[ý=‘ö×O AEõ×Oô a]Tö_ VYïãX åV×FãTö JôçÌ̂  Töçc÷ã_ VYïX×OôÌ[ý ×X=oöTö] =¬JôTöç ................
c÷+ãTö c÷ã[ý*
a) 1.2 m (×].) b) 2.4 m (×].) c) 0.6 m (×].) d) 6 m (×].)

80. In the 3rd Period, the element which is the least reactive ?
TÊöTöÝÌ̂  [ýGï» Eõ] a×yÔÌ̂  å]ì_ä$RôOç éc÷ä$K÷
TÊöTöÝÌ^ [ýãGïÌ[ý Eõ] a×yÔÌ̂  å]ì_×$RôO c÷c÷O_
a) chlorine b) sodium c) silicon d) aluminium

zõ×»S $K÷×QöÌ̂ ç] ×$K÷×_EõX A_Ç×]×XÌ̂ ç]
zõ×Ì[ýS åaç×QöÌ̂ ç] ×a×_EõX A_Ç×]×XÌ̂ ç]

81. In alkali metals the element which is the most metallic in nature :
Tö_» åEõçXä$RôOç lùç»EõÝÌ^ WýçTÇö» WýçQÍö[ýÝÌ^ mS %ç$RôOçc÷OTöêEõ å[ý×$K÷
XÝäJôÌ[ý åEõçX lùçÌ[ýEõÝÌ̂  WýçTÇöÌ[ý Wýç[ýÝÌ̂  mX a[ýJôç+ãTö å[ý`Ý
a) Cesium b) Francium c) Lithium d) Sodium

×$K÷×LÌ̂ ç] æZÐõX×$JôÌ̂ ç] ×_×UÌ̂ ç] $K÷×QöÌ̂ ç]
×$a÷×LÌ̂ ç] æZÐõX×$aÌ̂ ç] ×_×UÌ̂ ç] åaç×QöÌ^ç]

82. Which of the following occurs only during meiosis ?
×]%’×$K÷$Jô» ålùyTö Tö_» åEõçXä$RôOç a+~ c÷Ì^ ?
×]C×aãaÌ[ý ålùäy XÝäJôÌ[  åEõçX×Oô a¶Y~ c÷Ì̂  ?
a) Pairing of homologues chromosome b) Separation of duplicated chromosome

a]»ÖYÝ yÔ]L]ã[ýç» å^ç»ç YçãTö a]»ÖYÝ yÔ]L]ã[ýç» YÊUEõ c÷Ì̂
a]Ì[ý»»ÖYÝ yÔ]L]m×_ åLçQÍöçÌ̂  [ýãa a]Ì[ý»ÖYÝ yÔ]L]m×_ YÊUEõ c÷Ì̂

c) Cyto kinesis d) Disappearance of nucleolus
$K÷c÷O$RôOEõçc÷OãX×$K÷$K÷ %×TöãEõ³VÐ %VỀ î c÷Ì̂
aç+äOçEõç+ãX×aa %×TöãEõ³VÐ %VỀ î c÷Ì̂

83. Animals store carbohydrates in the form of
YÒçSÝãVc÷Tö ̀ Eïõ»ç ..................... »ÖYTö L]ç c÷Ì̂
YÒçSÝãVãc÷ `EïõÌ[ýç ..................... »Ì[ý»ÖãY L]ç c÷Ì̂
a) Glucose b) Fructose c) Glycogen d) Lactose

GÀÇEõL ZÇõkôL GÀçc÷OEõãLX å_Eõ$RôOL

84. Absorption of food and water in to the body is largely done by :
LÝ¾ãVc÷Tö .................... » ¥ç»ç %çc÷ç» %ç»Ó YçXÝ %×WýEõ Y×»]çãS å`ç×bTö c÷Ì^
LÝ[ýãVãc÷ .................... AÌ[ý ¥çÌ[ýç %çc÷çÌ[ý A[ýe L_ %×WýEõ Y×Ì[ý]çãX å`ç×bTö c÷Ì̂  f
a) Columnar epithelium b) Connective Tissue c) Hyaline Cartilage d) Adipose Tissue

Ø™öÞöçEõç»» %ç¾»SÝ Eõ_ç aeã^çLEõ Eõ_ç c÷çãÌ̂ ×_X QöOYç×Üšö å]$K÷ Eõ_ç
Ø™öÞöçEõçÌ[ý %ç[ýÌ[ýSÝ Eõ_ç aeã^çLEõ Eõ_ç c÷çãÌ̂ ×_X QöOYç×Üš å]a Eõ_ç
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85. The motion of rockets is based on the principle of Newton’s
»ãEõ$RôO» G×Tö ×XQöO$RôOX» ....................... » CY»Tö %çWýç×»Tö*
Ì[ýãEõãOôÌ[ý G×Tö ×X=OôãXÌ[ý ...................... Ì[ý =YÌ[ý %çWýç×Ì[ýTö*
a) 1st Law           b)    2nd Law         c)    3rd Law d) Combination of I & II Law

YÒU] aÉy               ×¥TöÝÌ̂  aÉy              TÊöTöÝÌ̂  aÉy YÒU] %ç»Ó ×¥TöÝÌ̂  aÉy» ac÷ã^çGTö
YÒU] aÉy               ×¥TöÝÌ̂  aÉy              TÊöTöÝÌ̂  aÉy YÒU] A[ýe ×¥TöÝÌ̂  aÉåyÌ[ý ac÷ã^çåG

86. Which of the following is not a mechanical wave ?
Tö_» åEõçXä$RôOç ^ç×Ü—öEõ Tö»eG Xc÷Ì^ ?
XÝäJôÌ[ý åEõçX×Oô ̂ ç×Ü—öEõ TöÌ[ý† XÌ̂  ?
a) Waves on water b) Sound wave

YçXÝ Tö»eG `Œ Tö»eG
L_ TöÌ[ý† `Œ TöÌ[ý†

c) Elastic waves d) Radio waves
×Øšö×TöØšöçYEõ Tö»eG å»×Qö% Tö»eG
×Øšö×TöØšöçYE TöÌ[ý† åÌ[ý×QöC TöÌ[ý†

87. Which of the following equations is the most informative ?
Tö_» åEõçXä$RôOç a]ÝEõ»S å[ý×$K÷ %UïYÉSï
XÝäJôÌ[ý åEõçX a]ÝEõÌ[ýS×Oô a[ýJôç+ãTö å[ý`Ý %»UïYÉSï
a) H2 + O2  ® H2O b) 2H2 + O2  ® 2H2O
c) 2H2

 (gas) + O2 (gas)  ® 2H2O (gas) d) All the above / %ç$RôOçc÷OãEõc÷O$RôOç/a[ýEõÌ̂ $RôOç

88. Lipase enzyme acts on -
_çc÷OãYL QöOdåa$JôãE ................... » CY»Tö ×yÔÌ̂ ç Eõã»*
_çc÷OãYL QöOdåa$JôE ................... AÌ[ý =YÌ[ý ×yÔÌ̂ ç EõãÌ[ý
a) water b) proteins c) fat d) none of these

YçXÝ YÒ×$RôOS $Jô×[ýï A$RôOçC Xc÷Ì̂
L_ YÒ×OôX Jô×[ýï AEõ×$RôOC Xç

89. The cells destroyed during an HIV infection are -
HIV aeyÔ]S» a]Ì̂ Tö W[ýea åc÷ç¾ç åEõçbã[ýç» ..............
HIV aeyÔ]ãXÌ[ý a]Ì̂  W[ýea c÷CÌ̂ ç åEõçbm×_
a) lymphocytes b) monocytes c) eosinophils d) basophils

×_]ãZõç$K÷çc÷O$RôO ]X’$Jôçc÷O$RôO c÷OÌ̂ ’×$K÷X’×Zõ_ å[ý$K÷’×Zõ_

90. An example of a catalyst, which helps in the chemical reaction between carbondioxide and water to produce
glucose is -
Eõç[ýïX Qöçc÷O %jçc÷OQö %ç»Ó YçXÝ» ]çLTö »çaçÌ^×XEõ ×[ý×yÔÌ^ç H×$RôO GÀÇ’Eõ’L QöOdY~ c÷CgãTö ........... åÌ^ %XÇH$RôOEõ ×c÷$JôçãY Eõç] Eõã»-
Eõç[ýïX Qöçc÷O %jçc÷OQö A[ýe Lã_Ì[ý ]ãWýî Ì[ýçaçÌ̂ ×XEõ ×[ý×yÔÌ̂ ç HOôç+Ì̂ ç GÀÇEõL =dY~ Eõ×Ì[ýãTö %XÇHOôEõ ×c÷açã[ý EõçL EõãÌ[ý-
a) chlorophyll b) chloroplast c) chlorine d) fluoro carbon

zõ’»’×Zõ_ zõ»’YÀçrô zõ’×»S ZÀõ’»’ Eõç[ýïX
zõ’Ì[ý’×Zõ_ zõ Ì[ý’YÀçrô zõ’×Ì[ýS ZÀõ’ Ì[ý’ Eõç[ýïX
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91. The cell organelle which helps in protection by destroying foreign particles is :
åEõçX×[ýWý åEõçb %eGÝEõçc÷O [ýç×c÷»ç LÝ¾çSÇ å[ýç»Eõ W[ýea Eõ×» åEõçbEõ aÇ»lùç ×VãÌ^ ?
åEõçX WýÌ[ýãXÌ[ý åEõçb ................... [ýç×c÷îEõ LÝ[ýçXÇ W[ýea Eõ×Ì[ýÌ̂ ç åEõçbãEõ aÇÌ[ýlùç ×VÌ̂ ç UçãEõ ?

a) ribosome b) centrosome c) mitochondria d) lysosome
»çc÷O[ý’L] æ$Jô³®ÏôO’L] ]çc÷O$RôO’Eõ×³QÎöÌ^ç _çc÷O$K÷’L]
Ì[ýçc÷O[ý’L] æ$a³®ÏôO’L] ]çc÷O$RôO’Eõ×³QÎöÌ^ç _çc÷O$a’L]

92. Choose the pair of quantities representing the same physical nature
AãEõ å\öì×TöEõ YÒEÊõ×Tö» »ç×` å^ç» éc÷ä$K÷ -------
AEõ+ å\öì×TöEõ YÒEÊõ×TöÌ[ý Ì[ýç×` åLçQÍöç c÷+_

a) watt.second, joule / second b) newton, kg/coulomb
¾ç$RôO. æ$K÷ãEõ‰ø, LÇ_/æ$K÷ãEõ‰ø õ×XQöO$RôOX, ×EõfGÐç/EÇõ_=‘ö

c) joule.second, joule/second d) None of these
õLÇ_. æ$K÷ãEõ‰ø, LÇ_/æ$K÷ãEõ‰ø A$RôOçC Xc÷Ì̂ /AEõ$RôOçC XÌ̂

93. A force of 20 N act on a body of mass 3 Kg moving it for a distance of 1m. The kinetic energy gained by the body is
20 N Y×»]çS» [ý_ A$RôOçc÷O 3 Kg \ö»» [ýØ™Çö A$RôOç» CY»Tö ×yÔÌ̂ ç Eõ×» 1 ×]. VÉ»ê_ ØšöçXçÜ™ö» Eõã», åTöãÜ™ö [ýØ™Çöøä$RôOçã¾ %çc÷»S Eõ»ç G×Tö ̀ ×Nþ» Y×»]çS   ?
AEõ×Oô 20 N Y×Ì[ý]çãXÌ[ý [ý_ 3 Kg \öãÌ[ýÌ[ý [ýºwø AEõ×OôÌ[ý =YÌ[ý ×yÔÌ̂ ç Eõ×Ì[ýÌ̂ ç 1 ×]. VÉãÌ[ý Ø™öçXçÜ™öÌ[ý EõãÌ[ý * [ýºwø×OôÌ[ý %çc÷»Ì[ýS EõÌ[ýç G×Tö `×NþÌ[ý Y×Ì[ý]çX

a) (20 x 3)j b) 20 x 1 j c) 20
3

 j d) (20 + 3)j

94. When a sound wave from a source ‘s’ is reflected from a concave mirror to ‘s1’ Distance between source and
the mirror is ‘u’. The distance between the mirror and the point where sound waves are received is ‘v’. then
‘S’ QöOda» Y»ç %c÷ç ̀ Œ Tö»eG A$RôOç %[ýTö_ VçãYçSTö ‘s1’ ×c÷$JôçãY YÒ×TöZõ×_Tö éc÷ä$K÷* ̂ ×V QöOda %ç»Ó VçãYçS» VÉ»±¼ö ‘u’ %ç»Ó ̀ Œ Tö»eG GÊc÷ÝTö
åc÷ç¾ç ×[ý³VÇ %ç»Ó VçãYçS» ]çL» VÉ»±¼ö ‘v’ c÷Ì^, åTö×TöÌ^ç ..............
‘S’ =da c÷+ãTö %çaç AEõ×Oô ̀ Œ TöÌ[ýeG YÒ×TöZõ×_Tö c÷Ì̂  AEõ×Oô %[ýTö_ VYïãX ‘s1’ ×c÷açã[ý* ̂ ×V =da A[ýe VYïãXÌ[ý VÉÌ[ý±¼ö ‘u’ A[ýe ̀ Œ TöÌ[ýeåG GÊc÷ÝTö
c÷CÌ̂ ç ×[ý³VÇ A[ýe VYïãXÌ[ý ]ãWýîÌ[ VÉÌ[ý±¼ö ‘v’ c÷Ì^, Töã[ý ...............

a) v = u b)    v
 u

 is constant (

 v
 u

 VÐÓ¾Eõ)

c)

1
u

 + 1
v

 = 1
f

d) f = v +u

95. Which of the following uses a system most similar to the SONAR for under water navigation ?
Tö_» åEõçXä$RôOçã¾ YçXÝ» Tö_Tö G×TöYU ×XÌ^Ü—öS Eõ×»[ýê_ SONAR » Vã» Yˆù×Tö [ýî¾c÷ç» Eõã»-
XÝäJôÌ[ý åEõçX YÒçXÝ Lã_Ì[ý XÝäJôÌ[  G×TöYU ×XÌ̂ Ü—öX Eõ×Ì[ýãTö SONAR AÌ[ý ]Tö Yˆù×Tö [ýî[ýc÷çÌ[ý EõãÌ[ý
a) bat b) rat c) tortoise d) porpoise

[ýçVÇ×_ A³VÇ» Eõç$K÷ ×`§
[ýçVÇÌ[ý +VÇÌ[ý Eõ¬K÷Y £`Eõ

S N S1
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96. The volume of 0.1 mole of gas at S.T.P. is ................
YÒ]çX QöObÕTöç %ç»Ó $JôçYTö 0.1 ]’_ åG$K÷» %çÌ^TöX ..............
YÒ]çX =bÕ A[ýe JôçãY 0.1 ]_ åGãaÌ[ý %çÌ̂ TöX
a) 11.2 liters b) 2.24 liters c) 22.4 liters d) 1.12 liters

11.2 ×_$RôOç» 2.24 ×_$RôOç» 22.4 ×_$RôOç» 1.12 ×_$RôOç»
11.2 ×_$RôOçÌ[ý 2.24 ×_$RôOçÌ[ý 22.4 ×_$RôOçÌ[ý 1.12 ×_$RôOçÌ[ý

97. Destructive distillation of coal gives
EõÌ̂ _ç» W[ýeaç±ÁEõ YçTöX» Zõ_Tö ........................ aÊ×rô c÷Ì̂
EõÌ̂ _çÌ[ý W[ýeaç±ÁEõ YçTöãXÌ[ý Zõã_ ..................... aÊ×rô c÷Ì̂
a) coke b) coaltar c) coal gas d) all the above

Eõ’Eõ %ç_EõçTö»ç Eõ’×_ åG$K÷ %ç$RôOçc÷OãEõc÷O$RôOç
åEõçEõ %ç_EõçTöÌ[ýç EõÌ^_ç åGa a[ýEõÌ̂ Oôç

98. Why is carbon the only element which can form large number of compounds (hydrocarbons) with other elements ?
Eõç[ýïãXc÷O éc÷ä$K÷ AEõ]çy å]ì_ ×^ãÌ̂  %Xî å]ì_» éaãTö Ç̂Nþ éc÷ å^ìG (c÷çc÷OQÎö Eõç[ýïX) GPöX Eõã», Eõç»S--
Eõç[ýïX+ c÷+_ AEõ]çy å]ì_ å^ %Xî å]ìã_Ì[ý açãU ̂ ÇNþ c÷+Ì̂ ç å^ìG (c÷ç+QÎö Eõç[ýïX) GPöX EõãÌ[ý, EõçÌ[ýX
a) Due to its higher electronegativity b) Due to higher electron affinity

%×WýEõ ×[ýVÇîd @Sç±ÁEõTöç» [ýçã[ý %×WýEõ c÷Oã_Eõ®ÏôX %ça×Nþ» [ýçã[ý
%×WýEõ ×[ýVÇîd @Sç±ÁEõTöçÌ[ý LXî %×WýEõ c÷Oã_Eõ®ÏôX %ça×Nþ Ì[ý LXî

b) Due to its valence electrons d) Due to its higher ionization energy
å^çLEõ c÷Oã_Eõ®ÏôX» [ýçã[ý %×WýEõ %çÌ^SÝEõ»S `×Nþ» [ýçã[ý
å^çLEõ c÷Oã_Eõ®ÏôXÌ[ý LXî %×WýEõ %çÌ̂ SÝEõ Ì[ýS ̀ ×NþÌ[ý LXî

99. The living cells of plants which give mechanical support and elasticity are
QöO×àöV» åEõçXä$RôOç aLÝ¾ åEõçãb VÊ$RÍôTöç %ç»Ó ×Øšö×Tö ØšöçYEõTöç YÒVçX Eõã»-
=×àöãVÌ[ý åEõçX aLÝ[ý åEõçãb VÊRÍôTöç A[ýe ×Øšö×TöØšöçYEõTöç YÒVçX EõãÌ[ý f-
a) parenchyma cells b) sclerenchyma cells

åYã»SEõçc÷O]ç åEõçb æ À̀ã»SEõçc÷O]ç
åYãÌ[ýSEõçc÷O]ç åEõçb æ À̀ãÌ[ýSEõçc÷O]ç

c) collenchyma cells d) all of the above
Eõ’å_XEõçc÷O]ç %ç$RôOçc÷OãEõc÷O$RôOç
Eõ’å_XEõçc÷O]ç a[ýEõÌ^$RôOç

100.The union between axon of a neuron and the dendrite of the next is called
ØoöçÌ^ÇãEõçb» AjX %ç»Ó åQöXQÎöçc÷O$RôO» ×]_XEõ ...................... å[ýçã_*
ØoöçÌ̂ ÇãEõçãbÌ[ý AjX A[ýe åQöXQÎöç+ãOôÌ[ý ×]_XãEõ ...................... å[ýçã_*
a) synapse b) bridge c) junction d) joint.

aeaGï ×[ýÐL Le$JôX åLç»ç
aeaGï ×[ýÐL Le$̀ X åLçQÍöç

*******
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